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QUESTION 1

You have designed a VNX for File solution for a creative content provider. The solution involves 10, 2 TiB file systems.
Each file system has a Checkpoint taken every hour, refreshed every day. The customer predicted a 2% daily change
rate,

and SavVol storage was allocated based on that change rate.

Sometime after the implementation, the customer notices that some of the older Checkpoints are disabled.

What is the most likely explanation?

A. Total SavVol utilization has exceeded the maximum allowed

B. Total number of Checkpoints has exceeded the maximum allowed

C. Checkpoints have a minimum refresh cycle of 48 hours

D. Write activity to the Checkpoint is highly random

Correct Answer: A

QUESTION 2

Click the calculator icon in the upper left-hand corner.

Your customer wants to use a SnapView Snapshot of a Pool LUN as part of their backup strategy. You need to
determine whether or not the proposed RLP configuration will meet the performance requirement. The source LUN
performs 800

random 4 kB IOPS, with a 3:1 R/W ratio.

At what rate is chunk data written into the RLP when the session starts?

A. 6.25 MB/s

B. 7.8 MB/s

C.12.5 MB/s

D. 31.25 MB/s

Correct Answer: C

QUESTION 3
A customer would like to configure their VNX for File for the highest possible level of client availability. There are five
Ethernet ports on a single DataMover and a single Ethernet switch available for client communications. What availability

features would you recommend to the customer?

A. Link Aggregation Control Protocol only
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B. EtherChannel port aggregation and Fail Safe Networking
C. Fail Safe Networking and Link Aggregation Control Protocol
D. EtherChannel port aggregation only

Correct Answer: A

QUESTION 4

Which naviseccli performance counter is used to view stripe boundary crossing statistics?
A. getdisk

B. getcontrol

C. getrg

D. getlun

Correct Answer: D

QUESTION 5

You have designed an Auto-tiering solution using Flash, SAS, and NL-SAS disks in your storage pool. Your design was
implemented and scheduling has been running daily. The customer reports that there is no data in the NL-SAS tier.

Why is this the case?

A. Data was previously moved to another tier

B. Scheduling is not required for this configuration
C. Tiering is set up for Lowest Available Tier

D. There was no data in the Flash drives to start with

Correct Answer: A
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